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3\ 4
1. Expand (X2—|—;> x!1=0

l o View Text Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_W12UYNLqRSyO

2. Compute (98)°.

o View Text Solution

3. Which is larger (1.01)'%°°"° or 10,000?

o View Text Solution

4. The coefficients of three consecutive terms

in the expansion of (1 + x)" are in the ratio


https://dl.doubtnut.com/l/_W12UYNLqRSyO
https://dl.doubtnut.com/l/_uvkgdMbXpjZ7
https://dl.doubtnut.com/l/_WCejNlxARZzk
https://dl.doubtnut.com/l/_gTTckL20SebD

1:7:42,thenn =

o Watch Video Solution

5. Find the term independent of x in the

expansion of( 3 1 )6
P 212 3 )

o View Text Solution

6. If the coefficients of " — 1,a" and a” + 1 in
the expansion of (1 +a)” are in arithmetic

progression, prove that n? - n(4r+1)+4r? - 2 =0.


https://dl.doubtnut.com/l/_gTTckL20SebD
https://dl.doubtnut.com/l/_UoJeoYNt4cw5
https://dl.doubtnut.com/l/_4w9P6pn7GWX0

° View Text Solution

7.Show that the coefficient of the middle term
in the expansion of (1 + z)’n is equal to the
sum of the coefficients of two middle terms in

the expansion of (1 + z)’n — 1

o View Text Solution

8. Find the r'h term from the end in the

expansion of (z + a)”.

| e |


https://dl.doubtnut.com/l/_4w9P6pn7GWX0
https://dl.doubtnut.com/l/_DqcwNn9bMuku
https://dl.doubtnut.com/l/_S9BPIHDb044I

& Watch Video Solution I

9. Find the term independent of x in the

18
1
expansion of (\3/5 + 5\3/5) X > 0.

° Watch Video Solution

10. If the coefficients of (r —5)'h and

(2r —1)'h  terms in the expansion of

)34

(1+ )" areequal, findr.

° Watch Video Solution



https://dl.doubtnut.com/l/_S9BPIHDb044I
https://dl.doubtnut.com/l/_bqQ2hGPSP5bu
https://dl.doubtnut.com/l/_h5daXToOMp9Q

1. Expand the expression

(1-2z)°

o Watch Video Solution

2. Expand the expression

(3-3)

° Watch Video Solution



https://dl.doubtnut.com/l/_h5daXToOMp9Q
https://dl.doubtnut.com/l/_4t5VtkEXbXYw
https://dl.doubtnut.com/l/_t82DuEzH1ELx

3. Expand the expression

(2z — 3)°

o Watch Video Solution

4. Expand the expression

CB+1 5
3 T

o Watch Video Solution



https://dl.doubtnut.com/l/_t82DuEzH1ELx
https://dl.doubtnut.com/l/_AePwyUa78UHw
https://dl.doubtnut.com/l/_imwlfSJzQf4T

5. Expand the expression

(-+3)

o Watch Video Solution

6. Using binomial theorem, evaluate :(96)°

o Watch Video Solution

7.Using binomial theorem, evaluate (102)°

o Watch Video Solution



https://dl.doubtnut.com/l/_3YHzpZjfoYD3
https://dl.doubtnut.com/l/_YhGehbqNhr7q
https://dl.doubtnut.com/l/_YHkgsXua2dFN

8. Using binomial theorem, evaluate (101)*

o Watch Video Solution

9. Using binomial theorem, evaluate (99)°

o Watch Video Solution

10. Using Binomial Theorem, indicate which

10000
)

number is larger (1.1 or 1000.


https://dl.doubtnut.com/l/_YHkgsXua2dFN
https://dl.doubtnut.com/l/_b09ZU2aGG05w
https://dl.doubtnut.com/l/_Yjgu0wmP5WsD
https://dl.doubtnut.com/l/_TnIIoPvlz6Oa

° Watch Video Solution

M. Find (a +b)* - (a — b)*. Hence, evaluate

(v3++v2)'- (v3-v2)"

o Watch Video Solution

12. Find (z+1)°% + (2 —1)° Hence or

otherwise evaluate (\/ﬁ + 1)6 + (\/5 — 1)6.

° Watch Video Solution



https://dl.doubtnut.com/l/_TnIIoPvlz6Oa
https://dl.doubtnut.com/l/_2fGk2aQj0QMj
https://dl.doubtnut.com/l/_RxWu6fc3fcX1
https://dl.doubtnut.com/l/_E4LF79DmqFXu

13. Prove that Z 3'n CT =4",
r=0

o Watch Video Solution

1. Find the coefficient of z° in(z + 3)°

° Watch Video Solution

2. Find the coefficient of a®b” in (a — 2b)*.


https://dl.doubtnut.com/l/_E4LF79DmqFXu
https://dl.doubtnut.com/l/_pCIiWrsQPh6F
https://dl.doubtnut.com/l/_b7cvUDOnA5fs

° Watch Video Solution

3. Write the general term in the expansion of (

> —y)6

o Watch Video Solution

4. Write the general term in the expansion of

(:1;2 — ya:)lz. x # 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_b7cvUDOnA5fs
https://dl.doubtnut.com/l/_81zKaJzHV27e
https://dl.doubtnut.com/l/_ypUTMCwOvgMD
https://dl.doubtnut.com/l/_HPCMlduZ6OWm

5. Find the 4'h term in the expansion of

(z —2y)".

o Watch Video Solution

6. Find thel3” term in the expansion of

(92 —1/3/x) ", x =0,

° Watch Video Solution



https://dl.doubtnut.com/l/_HPCMlduZ6OWm
https://dl.doubtnut.com/l/_5HQ1hD91pwr2

7. Find the middle terms in the expansions of

%)

° View Text Solution

8. Find the middle terms in the expansions of

- 10
i Y) .
(3 49

o Watch Video Solution



https://dl.doubtnut.com/l/_IC12g30Y3gQP
https://dl.doubtnut.com/l/_LuFiAEx0W9KS

9. The coeffcients of the (r — 1)™, r** and
(r + 1) terms in the expansion of (z + 1)"

are in theration1:3: 5Findnandr.

o View Text Solution

10. Find a positive value of m for which the
coefficient of z* in the expansion (1 + )™ is

6.

o View Text Solution



https://dl.doubtnut.com/l/_YKHdi7Bgvw5N
https://dl.doubtnut.com/l/_ZhFo2eXUvSYC

Miscellanous Exercise On Chapter 8

1. Find a,b,and n in the expansion of (a + b)" if
the first three terms of the expansion are 729.

7290 and 30375, respectively.

° Watch Video Solution

2.Find a if the coefficients of 2 and z° in the

expansion of (3 + az)® are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_s4oEXrdGEF7q
https://dl.doubtnut.com/l/_a6gL4RrZ21Gn

3. Find the coefficient of z° in the product

(1+ 2z)° (1 — ) using binomial theorem.

° Watch Video Solution

4.If a and b are distinct integers, prove that a-
b is a factor of a” - b" , whenever n is a positive

integer.

° Watch Video Solution



https://dl.doubtnut.com/l/_3NsKP1QTGXcx
https://dl.doubtnut.com/l/_0YnSUHjdkaGa

5. Evaluate (v3 +v2)" — (v3 - v2)".

o Watch Video Solution

4
6. Find the value of (a® + \/oz2 — 1) +
4
(a2 —Va® — 1) if a=,/b.

° Watch Video Solution

7. Find an approximation of (0.99)° using the

first three terms of its expansion.



https://dl.doubtnut.com/l/_OoFpNZKgDBl6
https://dl.doubtnut.com/l/_YqWHoHFUelCe
https://dl.doubtnut.com/l/_uIe3j2HRUbqF

\ o Watch Video Solution

8. Find n, if the ratio of the fifth term from

beginning to the fifth term from the end in

the expansion of | v/2 +
( V3

! ) id \/6: 1.

° View Text Solution

9. Expand using  Binomial

T 2 4
1+ ——] ,x=0.
2 T

Theorem

I o View Text Solution


https://dl.doubtnut.com/l/_uIe3j2HRUbqF
https://dl.doubtnut.com/l/_5sdVQFHDc9hr
https://dl.doubtnut.com/l/_e3qfcnhvz6zz

10. Find the expansion of (3:132 — 2ax + 3a2)3

using binomial theorem.

° Watch Video Solution



https://dl.doubtnut.com/l/_e3qfcnhvz6zz
https://dl.doubtnut.com/l/_Gno9VJiswzvZ

